To obtain terminal-wide meters, use game number 0000. It is possible that not all meters will be supported on all platforms,
and that some meters that are supported on a terminal-wide basis may not be supported for individual games or denominations.
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Meters are transmitted as three to 12 bytes per meter.

The first two bytes are the meter code from Table C-7, indicating the specific meter being transmitted.

The third byte indicates the size of the meter in number of bytes.

The size not only indicates the number of bytes of meter data being transmitted, but also implies the maximum number of digits in
the meter, i.e. meter rollover.

The size will be zero if the meter requested is not supported by the gaming machine. In this case no meter data is included.

Unlike long poll 2F, the response to 6F or AF must include at a minimum the meter code and a size byte for every meter specified
in the 6F or AF command, unless including the meter would cause the maximum number of meters or the maximum message

length to be exceeded.
Also note that meter codes beyond FF are not available using long poll 2F.
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In allowing the gaming machine to specify its meter size, it is important to understand meter rollover.

It is expected that cumulative meters by nature have a maximum capacity, and the potential to roll over.

It is also expected that the maximum capacity of any meter can be expressed as a string of decimal nines, for example
99,999,999 for an eight digit meter.

It is further expected that the maximum capacity is reasonably fixed by game design issues, and will not change dynamically.

A meter that rolls over at 99,999,999 is said to have a maximum capacity of eight digits, and would therefore always have a size
byte of 04, and be transmitted as 4 BCD bytes of meter data.

A meter with a maximum capacity of 12 digits would always have a size byte of 06 and be transmitted as six BCD bytes.
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Please note, if a meter’ s current value is 99,999,999, for example, and adding one to that meter would result in a value of
100,000,000, the meter obviously does not roll over at eight digits, and it is not correct to ever transmit that meter value as
04 99 99 99 99.

1
BETA—FDIE: 99,999,999 DEE

* A—A|Z +1 95 & I 100,000,000 &71:5; => 847 B THidH S LALY,
— Th#E {iE 049999 99 99 (BCD) ELTHEETADIFXELLALY:

SAS602_07-7.21.xls 02



